1. Resuelve la ecuacion:

1.

5.

9.
13.
17.
21.
25.
29.
33.
37.
41.
45.
49.
53.
57.

1.
5.
9.
13.
17.

1.
5.
9.
13.
17.

1.

13.

17.

21.

25.

29.

2(x-1)-6 = 3(x-3)
X+2+3%-7 = 3(x-1)
2(x-1)-2(x-3)-x =8
X-3+12 = 3x-3(x-3)
1-3(3x-1)+11x = 3-x
1-3x-8 = 2(2x-3)-6x
2x+8x-6 = 3(3x-1)-3
3%x-3(3x-3)-6 = 2-7x
7x-2(3x-2)-3x-3 =2
6X-2(2x+3)+9 = 3x+1
3x+1-2 = 10x-3(2x+1)
3+10x-10 = 3(2x-3)+X

2(x+2)+2(2x+2)-4 = 5x
2x-2(3%-2) = 14-3(x+3)
3(2x+3)-14x = 4-2(2x-2)

. Resuelve la ecuacion:

1-2x = 3-2(x+1)
3(x+3)-2x-7 = 2+x
2X-3-4x = 1-2(x+2)
3(x+2)+2x-3 = 3+5x

2-2(3x-1) = 2(x+2)-8x

. Resuelve la ecuacion:

2(x-1)-2x =1
2(3x-3)+1 = 9x-3x
2(3x+3)-7x-5 = 3-x
2(3x+1)-3x-3 = 3x+2

2(3x-3)-3(x-3) = 3x+8

. Resuelve la ecuacion:

25 x1_,
27 9
3x 3
10 5
X2 313 _,
9 18
5x+13 +E:
12 2
2x+3  Xx-6 1-0
12 8
3(x+2) , 2x-1 _
16 2
3x+13  2(x-1) -1
18 9
3(x+1) 5= 21x-4
2 16

2. 2x-2(x-3)-2x =3
6. 2(3x-2)-x+3 = x-2

10.
14.
18.
22.
26.
30.
34.
38.
42.
46.
50.
54.
58.

6-2-6x = x-3(2x-1)
2(3x+1)+2-4x-8 = X
2(x+2)-5x-2 = 2-2x
X-3(3x+3)+14 = 1-5x
3(3%x+2)-x-10x-5 = 2
2(2x+3)-4x-1 = 3x+3
3(x+3)+2x-10 = 3x-2
X-3(3%x-3)-1+10x = 11
3(3x+2)+3x-11x = 8-1
1-3x+6 = 3(3x+3)-13x

3(x+1)-6 = 12x-2(3x+1)
3(2x+2)-3(3x+2) = 1-2x
3(3x+2)-2(3x-3)-4x = 10

2. 2-x+1 = 3(x+1)-4x
6. 2(2x-1)-x+1 = 3x-1

10.
14.
18.

2(3x-1)-x+5 = 3+5x
1-2x+11x-4 = 3(3x-1)

3(2x-2)-3(x-3) = 3x+3

2. 2(x+3)+2-4 = 2x
6. 4x-2(x-1)-2x-7 =2

10.
14.
18.

10.

14.

18.

22.

26. X

30. x

2(3x-1)+2x+3 = 8x-1
3(2x-1)+3x+5 = 9x-3

10x-2(3x+2) = 2(2x+1)

8 = a

24 12

2X-25 Xx-3 _
" 30 15
14x-13  x+1 _

30 2

4x+3  X+2
5 2

x+10 3x-1 _

27 10
X+2 1= 13x+9

4 20

X=2

3. -13(x-2)-x = 4-6x
7. 6x-1-3(2%x-1)-1=x

11.
15.
19.
23.
27.
31.
35.
39.
43.
47.
51.
55.
59.

X-2(3x-2)-1 = 3x-4
2Xx-2-3x-3 = 3(x-2)
5x-3x+9 = 3(x+1)+3
2Xx-3-4x = 2-2(3x+1)
13-3x-3(x+3) = 3-3x
2x-2(2x+3)+6 = 1-3x
2x-1+8x+8 = 2(3x+3)
2(3x+3)+2x-7x-5=2
2(x-1)-2(2x-3) = 2x+1
7x-2-3(2x+3) = 2x-13

5x-3(2x-3) = 2(x-1)+15
6x-3(x+1)-2(2x+3)+8 = 0
2(2x+2)+3(2x+1)-4 = 12x

3. 3(X-1)+1+2 = 2x+x

. 2(3x-1)+3-5x-1=x
11.
15.
19.

5x-2(x-3)-3x-3 =3
2(2x-3)+3x-2+8 = 7x

2(3x+2)+5 = 3(x+3)+3x

3. 3(x+1)-2-4x = 7-x

11.

15. x

19.

23. X

27.

31.

. 3(x+1)+2+1 = 5x-2x
11.
15.
19.

1-3(3x-2)+6x = 6-3x
9%x-3%x-2 = 2(3x-3)+2

3(2x+3)-4x = 2(x+3)+8

X, 3x1_
2 5
6xt7 x-3 _
6 8
17x-6  x+ _
24 3
x-1_ 17x+10
3 27
3xt2  2x-17 _
10 20
2x-1 3x-5

3 6

11x+14 11= X-1
16

3(3x-1) N 3x+1 -

16 8

1

[Comp.det.]

4. 9-x-1 = x-3(2x-3)

. 2(X-1)-1-2 = 7x-2%x
12.
16.
20.
24.
28.
32.
36.
40.
44.
48.
52.
56.
60.

14-x-3(x+3) = 3-3x
3-x-2(2x-2) = 6-6Xx
6x-1-3x-1 = 2(2x-2)
X+2+11x = 3(3x+3)-6
3(x+3)-3%-10 = 2+2x
2(2x-3)+2x+4 = 5x-1
4-3x-3(3x+1) = 1-11x
1-3x-1 = 2(3x-2)-12x
11x-3(3%-3)-6 = 3x+2
3(3x+2)+3x-5 = 10x-2
3(x+1)+3(2x-2) = 10x-3
2(3x+1)+8 = 15x-2(3x-3)
14x-3(3x+2) = 3(2x+3)-14

[Comp.ind.]

4. 3(3x+1)-3 = 10x-X

. 2(3%-3)-1+7 = 7x-X
12.
. Bx-2(x-3)-3(x-2) = 12
20.

X+5x+5 = 2(3x+1)+3
2(3x+3)-2(x-2)-10 = 4x

[ 1ncomp.]

4. 2-3(x+2)+9 = x-4X

12.

16.

20.

24. X

28.

32.

. 4-2(x+1)-3x = 3-bx
12.
16.
20.

3(3x+3)-3(3x-1) =18
3(2x+3)-2x-11 = 3+4x
3(x-1)-3(2x-3) = 12-3x

[Comp.det.]

17x  x+1

18 6
Ox+7 x-1
—_— + —_—

16 2
2x+3 N 2x-1 _

6 4
X+2  2Xx+1 )

—+ x=1
6 2

5 2x+3 _ Xt6
2 8

2x-1  2x-17 _ 1
2 16

5x+7 3x+1
+

9 6




_3x-5 2(x-1) _ 1

12 3
Ox-16 3x+2
—_— = 2X
15 2

a1, x- 2L
6 18

27x+4) .
15

33. X

37.

45. =1

13x-14 -

) 2X+1

xtl 2x-13  2x+1 _ 1

49. — -
2 16 4
x1

53, ) 14x+3
2 18

57.

2 16 8

5. Resuelve la ecuacion:

1. Loy X2
3

w

5x x-3 Xx-2
5. —-—+T:X

6 3
5x+1 2x-3

9 3 9

6. Resuelve la ecuacion:

X+2 3x-8
— =X -
2 6
5. Ox+14 = _x_+1
18
20x+11 N 2x+3 }
24 12

7. Resuelve la ecuacion:

9 Xxtl 4x+3  x-1

"4 4x  4x-4 X

2
+X=—(x-1
3D

2x+3 23x-6 3x+1
- + =2

+X_+1=1

7 2x-3 x+l _2x-5

"3 2x4 x  6x
9. 3- x4 x24x+1 _X+5
" x-3  x29 x+3
2
13. X-2 . X“+x+3 N X+1 =1
2x Ax2 x 4
2
+ -
17. X+1 x+x19+x+6:3
x+3  x%43x X
21 5 3x+7 x-1 _ x24x+1
) 3 9x+6 X 3X2+2X
2
+ - +X+
o5 x5+x6=§ X“+X+1

8. Resuelve la ecuacion:

Ax+4  Ax-4 2 y24

34. x

38.

42. X

46.

50.

54.

58. x

10.

10.

10.

14.

18.

22.

26.

35 2D

6 3

13x+12  x42
16 8

3x-1 12x-13 _,

8 16

X

x=1

—=0
6X

3 x-2

X+l X24+x-1

2 ox-1 2x

2x%-x
X24+x-32

x>-9

X-1

X+3
Xt xd_ 7 3x*3x-1
3x x 3 32

X+1 3x-7

3x%+3x+2
+ =

3x  gyx?-3x  9x-3

35 x - X-2 _ 19x-10 ‘1 36. X - 2x-1 5(x-2) -1
3 30 4 12
39, 14x+9 N 3x+2 ox=1 40, x - 8x-25 _o- 2x-3
16 8 27 3
a3, Lo 3@, A8 30 oo
10 6 2
a7, 3x+1 ) Ex N X+3 _ 48, 4x+1 ) 3x-2 N X+3 _
3 12 4 6 2 3
51, 20 X3 2, 1y=1 g2 p 2B L. 3
18 6 9 3 6 2
55, 11x-1 ) X+3 N 3x+2 - ox 56. x -X—ﬂ-i(x-l) _ X-15 i1
16 4 2 2 8 16
+ - + + + +
59, 15x 19—X3+X2—x:2 60. x6+3x1+3x1_2X:1
24 12 2 20 2 10
[Comp.ind.]
3 2x+1_ _ _6x+7 4__+2x—3:X_x_+1
8 8 4 4 2
7. X+2 ) X-2 Sy - 3x-2 8. 2x - 2x-1 X 3x+2
6 6 3 2 4 4
11. X_x—3_1=5x—1_x—2 12. 10x+7_3x—1_x_+1=
2 6 3 9 3 9
[Incomp.]
3 x_-l_ - 20x-1 4 25x-2 +x_-1:
6 24 30 6
7 x- 3(x+1) 1= 4x-9 8. 18x-25 _3x-1
5 10 27 9
11. 3x-8 . 3x+1 ) x-3 . 12, x - 10x+13 } X-2 _ X+3
6 3 2 24 2 12
[Comp.det.]
2
- +X+ - - + +
3_x2_x x1+x_1:1 4_x_l X+3 xl_g
x-1  x2.1 x+l X 6x-3 2x-1 3
2 2
7_x_—l X+7 x+x+1:3 8_x_+1_x+x+3+x_-1:1
X X+2 x242x 2x  2x%42x X+l
2 2
11 X-1 X+5 X +x+11 -1 12. x_—1+ X“+X-3 = X+l _
X+l  x-1 x2-1 X oxlix 2%+l
2 2
15.x+1 x-1 x+x16=3 16.§_X9_X_+1:X+X4
X-2  X+2 x2-4 2 4x-4 x-1 gx24
2
19. xX+1 x2+x+x3:2 0. X-5 +l: 1 _i
2x-3 X 2x2.3x 2x242x X 2x+2  2Xx
2 2
53 2x-1 N 2x-3 N X“+x+1 -3 24 g_x_+1_ X“+X+3 _ 3x-13
2X-4 2X X2-2X 3 X 3X2-2X 9x-6
57 2 X+1 1 1 5 12x+31 x+1 _ 3x+l

- + =
3x+l  gx243x  9x+3 X

"4 24x+36 4x+6  6X

[Sol. falsa]



1 x6_1 x-1 X+l X+l  Xxt4 xX-1 x+1 x+1 Xx-3 xt1 5 1
—_—-—— = 2. —+—+—-=2 3. —+—+—=1 4, —+t—=—-—
3X 6x2 X x? X+2 2X 2x+4 2x-1 3x 6x-3 6x2 2x2 6x 3X
2 2 2 2
+ - +X+ -X- - - - + +X+ + +X- -
5.1_x1=x1_x X+4 6.X x6_x1=1_x3 7.x4+x2 xxl=3 8.X1+X x21+x7=3
x-1 x+1 %21 x2-4  X+2 X-2 x-1 X X2-X X-3  x2-3x X
2 2 2 2
+ +X+ - - +X+ + - +X+ + - +X+ +
_x4_x x1+x1:1 10_3_2x5_x x1:2x5 11_3_3x19_x x1:3x1 12_3_4x11_x x1:4x11
2X+2  ox24ox X+l 2x-2  x2.1 2x+2 3x-9  x2.3x  3X 4x-8  x2.4  4x+8
9. Resuelve la ecuacion: [Comp.ind.]
2 2
+ - + - +X+ + - +X- + - + +
7 oxl %6 _x+l 5 X1 XTx#2 xi2 g XA, XIxd xil g g 13 x12 x#l x#l_ o
4 2x 4x X X+l x24x X X x2-x  %x-1 9 9x X 3X
2 2 2
- + +X+ - + - +X+ + +X+ -
5. X-2 N 1 :l_i 6.X4+X X1:£_X3 7_2_x2_x_1_x x1:0 8.X2—X x4+x1:1
2%x2.3x 6%X-9 X 3x 3x+3 x%x 3 3X 2x+l X 2xZix x-1  x2.1 x+l
2 2 2 2 2
9. X“+x-36 N X-2 ; X+1 -3 10, X“+X+6 N X+1 :i_ X-9 11. E_ XT+x+1 ) 3x-14 _ X+1 12. g_ X +X-3 ) X-4 _X +X+1
x2-9 x+3  Xx-3 6x%+6x X 3 6x-6 3 3x2.x 9x-3 X 6  6x2 6Xx 2%2
10. Resuelve la ecuacion: [Incomp.]
1 X°-x+6 . x-1 x-2 5 g Xt X3 _ X2+x+1 g X1, x_ 3 i 4 X*4xtd  x-3 5 xtl
x2-1 xtl x-1 ) X X+l xZix 5x2 3x? 5X 15x2 T3x%3x 33X 3 X
2
5. X“+x-17 N X-2 N x+1 _3 6. X+1 N 1 :i_i 7. i+ x-1 +i: 3 8. 1_ X+1 ) X+1 _ 6Xx-7
x2-9 x-3  x+3 3x2-2x 3X-2 3Xx X X  Bx%43x 3X 2x+l 6 3x+2 2x 18x+12
2 2 2
9. x+1 +L+i_£: 0 10. 2- XTx-1 x-3 _X +X+1 11. X-2 N (x+4)(x-3) N X+1 _3 12 X-2 3t X“+x-10 = x+1 _
x2ox X1 2x X 232 2X %2 X+2 x2-4 x-2 x+1 x2-1 x-1
—Soluciones
3 -3 1 -1 -1 1 -1
1.1.1 1.2. 2 1.3. = 1.4. - 15.2 1.6.— 1.7.1 1.8.— 1.9.-4 1.10.1 1.11.0 1.12.2 1.13.0 1.14. 4 1.15. = 1.16. -1 1.17. = 1.18.0
2 2 4 4 3 4 3
1.10.3 1.20. 2 1.21. 1 1.22. 2 1.23. 3 124 1 125 0 1.26. 2 1.27. L 128 =2 1201 1.30. 2 1.31.1 1.32.1 1.33. = 1.34. =
3 4 3 2 3 2 3 2 2
1.35. 1 1.36.0 1.37.2 1.38. > 1.30.1 1.40. % 1.41. 2 1.42.1 1.43.> 1.44.1 1.45. 2 1.46.2 1.47.2 1.48. = 1.49. -4 1.50. =
4 2 3 4 3 2 3
1.51. % 1.52. 0 1.53. -1 1.54. -1 1.55. -1 1.56. % 1.57. % 1.58. 2 1.59. % 1.60. -1 2.1. comp.ind. 2.2. comp.ind. 2.3. comp.ind. 2.4. comp.ind.

2.5. comp.ind. 2.6. comp.ind. 2.7. comp.ind. 2.8. comp.ind. 2.9. comp.ind. 2.10. comp.ind. 2.11. comp.ind. 2.12. comp.ind. 2.13. comp.ind. 2.14. comp.ind.
2.15. comp.ind. 2.16. comp.ind. 2.17. comp.ind. 2.18. comp.ind. 2.19. comp.ind. 2.20. comp.ind. 3.1. inc. 3.2. inc. 3.3. inc. 3.4. inc. 3.5. inc. 3.6. inc.

3.7.inc. 3.8. inc. 3.9. inc. 3.10. inc. 3.11. inc. 3.12. inc. 3.13. inc. 3.14. inc. 3.15. inc. 3.16. inc. 3.17. inc. 3.18. inc. 3.19. inc. 3.20. inc. 4.1.%

4.2. ?1 4.3.2 4.4. ?3 4.5.2 4.6. % 4.7.% 48.1 4.9.-1 4.10.0 4.11. -2 4.12.% 4.13. 1 4.14.% 4.15.1 4.16.1 4.17.0 4.18. 2 4.19.
2 4 -1 -4 4 -1 4
-1 4.20. -2 4.21. 5 4.22. — 4.23.1 4.24. — 4.25. -1 4.26. -1 4.27.— 4.28.1 4.29. — 4.30. = 4.31. -1 4.32. — 4.33. -1 4.34.3 4.35. 0
3 3 2 3 3 2 3
2 3 -1 3 1 -1 1 1 -4

4.36. -1 4.37. — 4.38. 0 4.39. — 4.40. 2 4.41. -1 4.42. — 4.43. — 4.44. 0 4.45. 4.46. -2 4.47. — 4.48. — 4.49. — 4.50. — 4.51.
3 4 2 2 2 4 3 2 3

1
2
4.52. 2 4.53. 0 4.54. 0 4.55.3 4.56. 3 4.57.0 4.58. 0 4.59. -1 4.60. % 5.1. comp.ind. 5.2. comp.ind. 5.3. comp.ind. 5.4. comp.ind. 5.5.

comp.ind. 5.6. comp.ind. 5.7. comp.ind. 5.8. comp.ind. 5.9. comp.ind. 5.10. comp.ind. 5.11. comp.ind. 5.12. comp.ind. 6.1. inc. 6.2. inc. 6.3. inc. 6.4. inc.

6.5. inc. 6.6. inc. 6.7. inc. 6.8. inc. 6.9. inc. 6.10. inc. 6.11. inc. 6.12. inc. 7.1. = 7.2.4 7.3. 2 7.4. = 7.5. L 7.6. 2 7.7. L 7.8. 2 7.9.
4 4 2 2 3 3 3

-1 4 3 1 2 -4 1

— 7.11. g 7.12. -4 7.13. -3 7.14. E 7.15. 0 7.16. 3 7.17. E 7.18. -1 7.19. -3 7.20. E 7.21. -1 7.22.1 7.23. ? 7.24. -1 7.25. 5

2
7.

7.10. 2

26. -1 7.27. 4 7.28.1 8.1.inc. 8.2. inc. 8.3.inc. 8.4. inc. 8.5. inc. 8.6. inc. 8.7. inc. 8.8. inc. 8.9. inc. 8.10. inc. 8.11. inc. 8.12. inc. 9.1.
3
comp.ind. x#0 9.2. comp.ind. x¢{-1,0} 9.3. comp.ind. x¢{0,1} 9.4. comp.ind. x20 9.5. comp.ind. xe{o,%} 9.6. comp.ind. x¢{-1,0} 9.7. comp.ind. xe{%,o} 9.8.

comp.ind. xe{-1,1} 9.9. comp.ind. x¢{-3,3} 9.10. comp.ind. x¢{0,1} 9.11. comp.ind. Xg{o,%} 9.12. comp.ind. X0 10.1. inc. 10.2. inc. 10.3. inc. 10.4. inc.

10.5. inc. 10.6. inc. 10.7. inc. 10.8. inc. 10.9. inc. 10.10. inc. 10.11. inc. 10.12. inc.



